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Temperature

 19.1 Temperature and the Zeroth Law of Thermodynamics 569

ple, if you stand in bare feet with one foot on carpet and the other on an adjacent 
tile floor, the tile feels colder than the carpet even though both are at the same tem-
perature. The two objects feel different because tile transfers energy by heat at a 
higher rate than carpet does. Your skin “measures” the rate of energy transfer by 
heat rather than the actual temperature. What we need is a reliable and reproduc-
ible method for measuring the relative hotness or coldness of objects rather than 
the rate of energy transfer. Scientists have developed a variety of thermometers for 
making such quantitative measurements.
 Two objects at different initial temperatures eventually reach some intermediate 
temperature when placed in contact with each other. For example, when hot water 
and cold water are mixed in a bathtub, energy is transferred from the hot water to 
the cold water and the final temperature of the mixture is somewhere between the 
initial hot and cold temperatures.
 Imagine that two objects are placed in an insulated container such that they 
interact with each other but not with the environment. If the objects are at differ-
ent temperatures, energy is transferred between them, even if they are initially not 
in physical contact with each other. The energy-transfer mechanisms from Chap-
ter 8 that we will focus on are heat and electromagnetic radiation. For purposes 
of this discussion, let’s assume two objects are in thermal contact with each other 
if energy can be exchanged between them by these processes due to a tempera-
ture difference. Thermal equilibrium is a situation in which two objects would not 
exchange energy by heat or electromagnetic radiation if they were placed in ther-
mal contact.
 Let’s consider two objects A and B, which are not in thermal contact, and a third 
object C, which is our thermometer. We wish to determine whether A and B are in 
thermal equilibrium with each other. The thermometer (object C) is first placed 
in thermal contact with object A until thermal equilibrium is reached1 as shown in 
Figure 19.1a. From that moment on, the thermometer’s reading remains constant 
and we record this reading. The thermometer is then removed from object A and 
placed in thermal contact with object B as shown in Figure 19.1b. The reading is 
again recorded after thermal equilibrium is reached. If the two readings are the 
same, we can conclude that object A and object B are in thermal equilibrium with 
each other. If they are placed in contact with each other as in Figure 19.1c, there is 
no exchange of energy between them.

A

C C

A B

The temperatures of A and B are measured 
to be the same by placing them in thermal 
contact with a thermometer (object C).

No energy will be 
exchanged 
between A and B 
when they are 
placed in thermal 
contact with each 
other.

B

a b c

Figure 19.1  The zeroth law of 
thermodynamics.

1We assume a negligible amount of energy transfers between the thermometer and object A in the time interval dur-
ing which they are in thermal contact. Without this assumption, which is also made for the thermometer and object 
B, the measurement of the temperature of an object disturbs the system so that the measured temperature is differ-
ent from the initial temperature of the object. In practice, whenever you measure a temperature with a thermometer, 
you measure the disturbed system, not the original system.

อุณหภูมิคือปริมาณที่บอกถึงความร้อนหรือเย็น อาจวัดได้โดยการถ่ายเท
ความร้อนของวัตถุ ความเร็วของวัตถุ หรือพลังงานจลน์ของวัตถุ 
กฎข้อที่ศูนย์ของอุณหพลศาสตร์ (Zeroth law of thermodynamics) 
“ถ้าระบบ A และ C อยู่ในภาวะสมดุลทางอุณหพลศาสตร์ และระบบ B 
และ C อยู่ในสภาวะสมดุลทางอุณหพลศาสตร์แล้ว ระบบ A และ B จะอยู่
ในภาวะสมดุลทางอุณหพลศาสตร์ 
ด้วยเช่นกัน” 
‣ ไม่เกิดการถ่ายเทความร้อน                                                  
ระหว่าง A กับ B (ตามรูป)
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The absolute temperature scale

572 Chapter 19 Temperature

(Fig. 19.5). The agreement among thermometers using various gases improves as 
the pressure is reduced.
 If we extend the straight lines in Figure 19.5 toward negative temperatures, we 
find a remarkable result: in every case, the pressure is zero when the temperature 
is 2273.158C! This finding suggests some special role that this particular tempera-
ture must play. It is used as the basis for the absolute temperature scale, which sets 
2273.158C as its zero point. This temperature is often referred to as absolute zero. It 
is indicated as a zero because at a lower temperature, the pressure of the gas would 
become negative, which is meaningless. The size of one degree on the absolute tem-
perature scale is chosen to be identical to the size of one degree on the Celsius 
scale. Therefore, the conversion between these temperatures is

 TC 5 T 2 273.15 (19.1)

where TC is the Celsius temperature and T is the absolute temperature.
 Because the ice and steam points are experimentally difficult to duplicate and 
depend on atmospheric pressure, an absolute temperature scale based on two new 
fixed points was adopted in 1954 by the International Committee on Weights and 
Measures. The first point is absolute zero. The second reference temperature for this 
new scale was chosen as the triple point of water, which is the single combination of 
temperature and pressure at which liquid water, gaseous water, and ice (solid water) 
coexist in equilibrium. This triple point occurs at a temperature of 0.018C and a pres-
sure of 4.58 mm of mercury. On the new scale, which uses the unit kelvin, the tem-
perature of water at the triple point was set at 273.16 kelvins, abbreviated 273.16 K.  
This choice was made so that the old absolute temperature scale based on the ice 
and steam points would agree closely with the new scale based on the triple point. 
This new absolute temperature scale (also called the Kelvin scale) employs the SI 
unit of absolute temperature, the kelvin, which is defined to be 1/273.16 of the dif-
ference between absolute zero and the temperature of the triple point of water.
 Figure 19.6 gives the absolute temperature for various physical processes and 
structures. The temperature of absolute zero (0 K) cannot be achieved, although 
laboratory experiments have come very close, reaching temperatures of less than 
one nanokelvin.

The Celsius, Fahrenheit, and Kelvin Temperature Scales3

Equation 19.1 shows that the Celsius temperature TC is shifted from the absolute 
(Kelvin) temperature T by 273.158. Because the size of one degree is the same on 
the two scales, a temperature difference of 58C is equal to a temperature difference 
of 5 K. The two scales differ only in the choice of the zero point. Therefore, the 
ice-point temperature on the Kelvin scale, 273.15 K, corresponds to 0.008C, and the 
Kelvin-scale steam point, 373.15 K, is equivalent to 100.008C.
 A common temperature scale in everyday use in the United States is the Fahren-
heit scale. This scale sets the temperature of the ice point at 328F and the tempera-
ture of the steam point at 2128F. The relationship between the Celsius and Fahrenheit 
temperature scales is

 TF 5 9
5TC 1 328F (19.2)

We can use Equations 19.1 and 19.2 to find a relationship between changes in tem-
perature on the Celsius, Kelvin, and Fahrenheit scales:

 DTC 5 DT 5 5
9 DTF (19.3)

 Of these three temperature scales, only the Kelvin scale is based on a true zero 
value of temperature. The Celsius and Fahrenheit scales are based on an arbitrary 
zero associated with one particular substance, water, on one particular planet, the 

Trial 2

Trial 3

Trial 1
P

200
T (!C)

1000"100"200

For all three trials, the pressure 
extrapolates to zero at the 
temperature "273.15!C.

Figure 19.5  Pressure versus 
temperature for experimental tri-
als in which gases have different 
pressures in a constant-volume gas 
thermometer.

Pitfall Prevention 19.1
A Matter of Degree Notations for 
temperatures in the Kelvin scale do 
not use the degree sign. The unit 
for a Kelvin temperature is simply 
“kelvins” and not “degrees Kelvin.”

3Named after Anders Celsius (1701–1744), Daniel Gabriel Fahrenheit (1686–1736), and William Thomson, Lord Kel-
vin (1824–1907), respectively.
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Figure 19.6  Absolute tempera-
tures at which various physical 
processes occur.

-
C, the other may indicate a slightly different value. 

The discrepancies between thermometers are especially large when the tempera-

-
peratures over which it can be used. A mercury thermometer, for example, cannot 

C, and an alcohol ther-
C, the boiling point of 

alcohol. To surmount this problem, we need a universal thermometer whose read-
ings are independent of the substance used in it. The gas thermometer, discussed 

One version of a gas thermometer is the constant-volume apparatus shown in Fig-
ure 19.3. The physical change exploited in this device is the variation of pressure 
of a fixed volume of gas with temperature. The flask is immersed in an ice-water 

 is raised or lowered until the top of the mercury in 
, the difference between the 

A B

The volume of gas in the flask is 
kept constant by raising or 
lowering reservoir B to keep the 
mercury level in column A 
constant.

h

Scale

0

Mercury
reservoir

Flexible
hose

Bath or
environment
to be measured

P
Gas
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Avogadro’s number

ในบางครั้ง เราจะบอกจำนวนอะตอมหรือโมเลกุลเป็นโมล (mole, n) 
ถ้าเราให้จำนวนโมเลกุลเป็น N จำนวนโมลก็จะสามารถหาได้โดย

n =
N

NA

NA (Avogadro’s number) = 6.023 x 1023 molecules/mole

หรือถ้าเราบอกเป็นมวลของธาตุต่าง ๆ

n =
m

M

โดยที่ M คือ molar mass ของธาตุชนิดต่าง ๆ (หรือ atomic mass) ใน
หน่วย g/mole เช่นมวลของ He หนึ่งอะตอมคือ 4.00 u molar mass ของ 
He คือ 4.00 g/mole



page 7

Ideal gas

พิจารณาก๊าซที่ความดันต่ำ ๆ ไม่มีแรงกระทำระหว่างโมเลกุลของก๊าซ 

(Boyle’s law)
เมื่อให้อุณภูมิของก๊าซคงที่ ความดันจะแปรผกผันกับปริมาตร 

(Charles’s law)
เมื่อให้ความดันของก๊าซคงที่ ปริมาตรจะแปรผันตรงกับอุณหภูมิ 

(Gay-Lussac’s law)
เมื่อให้ปริมาตรของก๊าซคงที่ ความดันจะแปรผันตรงกับอุณหภูมิ 

(Avogadro's law )
ที่อุณหภูมิและความดันเท่ากัน ถ้าปริมาตรของก๊าซชนิดใด ๆ เท่ากัน ก๊าซ
เหล่านั้น ๆ ก็จะมีจำนวนโมเลกุลเท่ากัน
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Ideal gas

PV = nRT เป็น Empirical law

R (universal gas constant) = 8.314 J/mol K 

ลองคำนวณปริมาตรของก๊าซใด ๆ 1 โมลที่อุณหภูมิห้อง (25 C) ที่ความ
ดันหนึ่งบรรยากาศ (1 atm, 1.013 x 105 Pa ) เราจะได้ว่าปริมาตรจะมี
ค่า 

ซึ่งมีค่าประมาณ 24.5 ลิตร โดยไม่ขึ้นอยู่กับชนิดของก๊าซ

V =
nRT

P

=
(1)(8.314)(298.15)

1.013⇥ 105
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ตัวอย่าง

กระป๋องสเปรย์บรรจุก๊าซชนิดหนึ่งไว้ที่ความดันสองเท่าของความดัน
บรรยากาศ และมีปริมาตร 125.00 ลูกบาศก์เซนติเมตร ที่อุณหภูมิ 22 
องศาเซลเซียส กระป๋องสเปรย์นี้ถูกโยนเข้ากองไฟทำให้อุณหภูมิสูงขึ้น
เป็น 195 องศาเซลเซียส จงหาความดันที่เกิดขึ้นข้างในกระป๋อง (โดย
สมมติให้การเปลี่ยนแปลงของปริมาตรของกระป๋องมีค่าน้อยมาก)
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ตัวอย่าง

มวลของบอลลูนลูกหนึ่งกับตะกร้ามีค่าเท่ากับ 200 กิโลกรัม (ไม่รวม
อากาศภายใน) อากาศภายนอกมีอุณหภูมิเท่ากับ 10 องศาเซลเซียสและ
ความดันหนึ่งบรรยากาศ ถ้าปริมาตรของบอลลูนคือ 400 ลูกบาศก์เมตร  
ระดับอุณภูมิเท่าไหร่ที่อากาศภายในบอลลูนควรถูกทำให้ร้อนขึ้นก่อน
ปล่อยขึ้นฟ้า (ให้ความหนาแน่นของอากาศที่ 10 องศาเซลเซียสมีค่า
เท่ากับ 1.244 กิโลกรัมต่อลูกบาศก์เมตร)
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Molecular model of an ideal gas

ในบทนี้เราจะศึกษาถึงโมเดลที่เราใช้ในการบรรยายก๊าซโดย
วัตถุประสงค์คือการหาความสัมพันธ์ระหว่าง  

อุณหภูมิและความดัน กับ การเคลื่อนที่ของโมเลกุล

MicroscopicMacroscopic

พิจารณาระบบของก๊าซให้ประกอบด้วยอนุภาค
ขนาดเล็ก ๆ (เช่นโมเลกุลหรืออะตอม) โดย
อนุภาคเหล่านี้ 
‣ ประพฤติตนตามกฎการเคลื่อนที่ของนิวตัน 
‣ ไม่สนใจอันตรกิริยาระหว่างอนุภาค 
‣ เหมือนกันในทุกทิศทาง (Isotropic) 
‣ ชนแบบยืดหยุ่นกับกำแพง
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Molecular model of an ideal gas

structural 
 is a theoretical construct designed to represent a system that cannot be 

observed directly because it is too large or too small. For example, we can only 
observe the solar system from the inside; we cannot travel outside the solar system 
and look back to see how it works. This restricted vantage point has led to different 

 with the Earth at 
 with the Sun at the center. Of course, the latter 

has been shown to be correct. An example of a system too small to observe directly 

 (Section 42.4). 

dictions of how the movement of Mars should appear from the Earth. It turns out 

d

d d
z x

y

m 0

vxi

vi
S

One molecule of the gas 
moves with velocity v on 
its way toward a collision 
with the wall.

S

Figure 21.1 

vyi

vxi

vyi

–vxi

vi
S

vi
S

The molecule’s x 
component of 
momentum is 
reversed, whereas 
its y component 
remains 
unchanged.

�p
xi

= �m0vxi � (m0vxi) = �2m0vxi

โมเมนตัมก่อนชนโมเมนตัมหลังชน
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Molecular model of an ideal gas

¯F
i,on molecule

= �2m0vxi
�t

= �m0v2
xi

d

เราสามารถเขียนแรงเฉลี่ยที่กำแพงกระทำต่อโมเลกุลได้ว่า

�t =
2d

v
xi

ระยะเวลาระหว่างการ
ชนสองครั้งบนด้าน
เดียวกันของกำแพง 

แรงเฉลี่ยที่โมเลกุลแต่ละตัวกระทำต่อกำแพง ตามกฎข้อที่สามของนิวตัน

¯F
i,on wall

=

m0v2
xi

d

แรงเฉลี่ยที่โมเลกุลทั้งหมดกระทำต่อกำแพง

F =
m0

d

nX

i=1

v2
xi

ค่าเฉลี่ยของแรงในแต่ละช่วง
เวลามีค่าเท่า ๆ กัน
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Molecular model of an ideal gas

เรามาพิจารณาค่าเฉลี่ยของ (ค่าความเร็วตามแนวแกน x ยกกำลังสอง) 
สำหรับ N โมเลกุล

nX

i=1

v2
xi

= Nv2
x

แทนค่ากลับไปที่แรงเฉลี่ยของโมเลกุลทั้งหมดที่กระทำต่อกำแพง

F =
m0

d
Nv2

x

พิจารณาความเร็วทั้งสามแกน (x, y, z)

v2
i

= v2
xi

+ v2
yi

+ v2
zi

v2 = v2
x

+ v2
y

+ v2
z

v2 = 3v2
x

Isotropic

ค่าเฉลี่ยของทุก ๆ โมเลกุล
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Molecular model of an ideal gas

พิจารณาความดัน

P =
F

A
=

F

d2
=

1

3

✓
N

V

◆
m0v2

=
2

3

✓
N

V

◆
(
1

2
m0v2)

เหมือนว่าความดันกับปริมาตรจะขึ้นอยู่กับจำนวนของโมเลกุล และชนิด
ของก๊าซ (m0) แต่สำหรับก๊าซในอุดมคติที่จะเรียนมาแล้วเราพบว่า PV 
นั้นไม่ได้ขึ้นอยู่กับชนิดของก๊าซ สำหรับก๊าซในอุดมคติ


